
PRECALCULUS SUMMER ASSIGNMENT – 2015   Name: __________________________  
  
The problems in this packet are designed to help you review topics that are 
important to your success in Precalculus. The problems should be done correctly, 
not just attempted.  If you have difficulty, it is your responsibility to find help and 
review the topics thoroughly before the new school year begins.  There will be a 
quiz on these topics during the first week after we return to school.  You will 
not be allowed to use a calculator on this quiz, and there will be no “retest.” 
 
On lined paper, copy each problem, show all work, and be neat and organized.  No 
calculator is allowed. 
       
I.    Factor the following expressions, if possible: 
 
a.   822  xx   b.   31710 2  xx   c.   15224 2  xx  
d.   70313 2  xx   e.   xx 102     f.   23 204 xx   
g.   252 x    h.   162 x  
 
 
II.    Simplify, if possible: 
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III.    Solve for x , showing all algebraic steps: 
 

a.   3523 x   b.   574  x   c.   2
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5 
x
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1
x   e   )96(7)52(3  xx  f.   xxx 2515239   

g.   052  xx   h.   036 2  xx   i.   02142  xx  
j.  6132 2  xx   k.  210143 2  xx   l.   xx 189 2   
m.   16)2( 2 x   n.  2052 x   o.   02516 2 x  

p.   4bax    q.   kc
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    r.   50302010  ababx  

 
 
 



IV.    Graph each function.  State its domain and range: 
 

a. xy    b. xy       c. xey    d. 2xy    e. xy      

 
 

V.     Given the functions          7,1,4,2,5,3xf     3 xxg  

                    6,1,3,4,2,3xh     52  xxk  

Determine: 
 
a.     4h    b.    52g    c.    3hf  

d.     7kg     e.     xkg    f.     xgk  

 
 
VI.  Simplify without any negative exponents in the final answer:     
 
a.   53 xx     b.   xx 52    c.     4936 72 yxyx   
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VII.  Rewrite in exponential form:   a.   4 x   b.   3 2x  
 
 

VIII.  Rewrite in radical form:  a.   2
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IX.   Simplify:    a.   18436 yx   b.   
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X.   Are the following expressions defined?  Indicate “yes” or “no”: 
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d.  11,9  xx   e.  5,5  xx   f.  3,4  xx  


